Subject: Re: stunting calculation
Posted by eceaydin on Wed, 18 Oct 2023 12:13:47 GMT
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| would like to calculate the number of stunted children in the Uganda 2016 dataset. At the
moment, because | needed to merge the IR and PR datasets, | will be using the PR to calculate
this. | cannot use the hc variables because they are all missing values after the merging. So like
this post mentions, | wanted to use the hw70 variable. However, in my dataset | have hw70_1,
hw70_2 etc. for the different children. Do | need to create a new variable combining the children
together? Or how else do | do this calculation? Any help is appreciated!

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=16814
https://userforum.dhsprogram.com/index.php?t=rview&th=12553&goto=27896#msg_27896
https://userforum.dhsprogram.com/index.php?t=post&reply_to=27896
https://userforum.dhsprogram.com/index.php

